
 

 

 

 

Year group:  3               Date: 

 Challenge 1 Challenge 2 Challenge 3 

English  Can you watch the video by 

clicking on the link from 38 

seconds to 1 minute 13 

seconds and then write a mini 

retell for each picture? 

https://www.literacyshed.com

/uglysharkling.html 

Remember to include: 

 

There are spellings to help 

you. 

Use your story map from 

yesterday to complete the 

story starter given to 

describe what you think is 

inside the fairy tale house? 

Remember to include: 

Adverbs 

Verbs 

Powerful adjectives 

Prepositions 

Use the example to help you. 

  Use your story map from 

yesterday to complete the 

story starter given to describe 

what you think is inside the 

fairy tale house? 

Remember to include: 

Adverbs 

Verbs 

Powerful adjectives 

Prepositions 

 

Extra challenge – remember 

those range of conjunctions 

ISAWAWABUB 

Use the example to help you. 

 

Maths a) Can you count the value of 

the coins shown?  

b)TTrockstars  

a) Can you identify the 

amounts of the coins and 

notes and compare them? 

b)TTrockstars  

a) Can you convert the coins 

from pence to pounds? 

b) TTrockstars 

Reading/ 

Spellings 

Can you practice writing the 

spellings and then fill in the 

missing gaps? 

Can you practice writing the 

spellings and then fill in the 

missing gaps? 

Can you practice writing the 

spellings and then fill in the 

missing gaps? 

Don’t worry if you have finished your home links book. Why not have a look at the e books that 

have been added to this week’s folder and get stuck into one of those.  

Other Art – Silhouettes – Can you create a wild west silhouette. Have a look the examples to give you 

some inspiration.  

https://www.literacyshed.com/uglysharkling.html
https://www.literacyshed.com/uglysharkling.html






Vocabulary to help 

 

Spellings to help: 
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Example 

A) = £2 and 74 p 



 




